= .1, 3.14159*49

2, 3.14159*49*9

1.

import turtle as t
import math
t.pensize(2)
t.right(90)
t.penup()
t.forward(200)
t.pendown()
t.1eft(90)

r=200

t.circle(r)
len=r*math.sqrt(3)
t.left(60)
t.forward(len)
t.left(120)

t.forward(len)



t.left(120)

t.forward(len)

import turtle as t

t.color('red")
t.speed("fast")

for i in range(20):

t.shape('turtle') #E R IR

t.circle(100,360)

tleft(18)

1.0 2C 3.C 4B

12.B 13.B 14.C

import math

a=math.sqgrt(math.pi)

5A

15.B

6.C

16.A

7.A

17.C

8.B

18.D

9.A

19.B

10.D

20.C

11.A



a=pow(a,1/2)
b=math.pow(13+math.e,1/2)
b=math.log(2*math.pi*b,10)
c=math.pi+1
c=math.log(c,3)
c=math.pow(math.tan(c),-1)

print(a,b,c)

2.(1)

r=2.11
v=3*(math.pi*r**2)/4

print(v)

(2)

r1=16.2
r2=9.4
s=math.pi*(r1**2-r2**2)

print(s)

(3)

r3=66

h=24.2



v1=math.pi*(r3**2)*h
s1=2*math.pi*(r3**2)+2*math.pi*h

print( “EER : ",s1)

print( “4&8 : " v1)

4.(1)

a=input()
num=0
foriin a:
if i=="t"
num+=1

print(num)

(2)

a=input()
num=0
foriin a:
if i=="t".
num+=1
#print(num)
list=[]

b=0



list=a.split("://")
list1=list[1].split(".")
del list[1]
list2=list+list1
foriin list2:

if i=="com":

continue

b=b+1

print(b-1)

(3)

a=input()

str=a.replace('.",'-")

print(str)

(4)

str=input()
str1=str[7:13]
print(str1)

str2=str[-19:-13]



print(str2)

(5)

str=input()

print("¥IRFHIE R " str.upper())

(6)

str=input()

n=0

foriin str:
n+=1

print(" S FRFERA : "n)

(7)

str=input()

print("E#EF R : " str+"index")

5.

a=float(input("##:"))



b=float(input("i&3Z:"))

c=float(input("%i&:"))

sumi=a+b+c

sum2=a*0.3+b*0.5+c*0.2

abv=sum1/3

ma=max(a,b,c)

mi=min(a,b,c)

print(f"|& KXER : {ma}, &/MER{mi}, 2R : {sum1},FE5H R : {abv},WiFLHRER :

{sum2}")

a=int(input())
b=a%10
c=(a-b)/10%10
d=(a-10*c-b)/100

print(b+c+d)

i
[1]
1t

v

1.0 2C 3B 4B 5B 6B 7A 8A 9C 10A 11B 12D 13D 14C



15B 16.0 17.D 18A 19D 20A 21.B 22A

foriin range(10):
for j in range(9):
if i<=j:
print(f"{i+1}*{+1}=",(i+1)*(+1),end="")

print()

interviewees = [

{nageu:24, "eXp":O, Ilmajorll:lli.l.%*nll}’

{"age™32, "exp":4, "major":"EBF"},

{"age":36, "eXp"Z8, umajoru:u%%u}’

{"age":26, neXpu:z’ “major":“iE Ell}

for idx, person in enumerate(interviewees, 1):

23.B



age = person["age"]

exp = person["exp"]

major = person["major"]

meet = (major == "I E#1" and age < 25) or (major == "E8F" and exp >= 4)

print S EIRE © (REERNL' if meet else 1K , EFHAEAERY)

scor=int(input("i&E % AR LR : "))

if scor>=100&scor<=1:
print("erro"

if scor>=90:
grade="A"
print(grade)

elif 89>=scor>=80:
grade="B"
print(grade)

elif 79>=scor>=70:
grade="C"
print(grade)

elif 69 >= scor >= 60:

grade ="C"

print(grade)



elif scor<=59:
grade="E"

print(grade)

for i in range(2000,3001):
year=i

if year%4==0 and year% 100!=0 or year%400==0:

print("E £")
else:
print("F 2 EF")
5.
import math

for angle in range(0, 91, 5): #0ZE 90, %k 5

rad = math.radians(angle) # AE®IE

sin_val = math.sin(rad)

cos_val = math.cos(rad)



print(f" & E{angle}° : IE&%={sin_val:.2f} , 5R5%={cos_val:.2f}")

import math

n = int(input("EHMA n : "))

foriin range(1, n+1):

x=i # ¥HBE

for _inrange(10): # &R 10 X 2B EH

X=(Xx+i/x)/2

sqrt_math = math.sqrt(i)

print(F"EER{i} : FWUERLER={x..2f} , math.sqrt & R={sqrt_math:.2f}")

n=int(input())
a=0
for i in range(n):
if N%7==08&a<i:
a=i+1

print(a)



import math

1
—_—

a

s=0

for i in range(1000):
s+=math.pow(-1,i)*1/(i*2-1)

print(s)

1~15 : DCADADBADABBBAC

16~20 : BBCDA

Is = [54, 36, 75, 28, 50]

Is.append(42)

idx = Is.index(28)

Is.insert(idx, 66)

val = Is.pop(ls.index(66))

print(val)



Is.sort(reverse=True)

Is.clear()

list=[]
for i in range(100):
if 1%3==0:
list.append(i)

print(list)

(1)

years = [2006, 2007, 2008, 2009, 2010, 2011]

rates = [57, 56, 57, 62, 69, 72]

avg_rate = sum(rates) / len(rates)

print(f" 9 EE: {avg_rate:. 1f}%")

(2)

years = [2006, 2007, 2008, 2009, 2010, 2011]

rates = [57, 56, 57, 62, 69, 72]



max_rate = max(rates)

idx = rates.index(max_rate)

print("EXE H = W EH: {years[idx]}F, HE: {max_rate}%")

sentence = input("i& i AZK XA F: ")

words = sentence.split(“.”)

longest_length = max(len(word) for word in words)

print(f"& & £ 17 # K E: {longest_length}")

import random

list=[20]

list1=[]

for i in range(20):
i+=1
a=random.randint(1000,5000)
list.append(a)

foriin list:



if i%10!=0:

list1.append(i)

print(list1)
6.
data =

["E¥", "$".1,1,0],

['ZEm", "%",0,1,0,1],

['"BR/E", "&", 0,0, 1, 0],

[PhE, "8 0,1, 1, 1],

['BF3", "B".1,0,1,0]

projects = ["100m", "3000m", "BKE", "Bk

(1)

count_more_than_two =0

for student in data:

project_count = sum(student[2:])

if project_count >= 2:



count_more_than_two +=1

print(f"(1) KRBT BB FAIAYZ 4 AL {count_more_than_two}")

()

print("\n(2) FAERBER:")

for student in data:

name = student[0]

signed_up = [projects]i] for i in range(4) if student[2+i] == 1]

print(f"{name}: {, ".join(signed_up)}")

3)

print("\n(3) & 3000m HF4:")

for student in data:

if student[3] == 1: # 3000m 25 4 %Il ( &5l 3)

print(f"#% : {student[0]}, M 5l: {student[1]}")

BHE

1-10:ADDBCCCCCA

11-21:ACCDABABCDB



dicTXL = { "/N&": {"F 41" "13915000001", "QQ": "18191220001"},"/52": {"FHL"
"13915000002", "QQ": "19181220002"},"/MNI": {"F#L": "13915000003", "QQ":

"18191220003"}}

dicOther = { "AXI" {"F#L" "13914000001", "QQ"; "1819120001"}, "X E": {"FH"
"13914000002", "QQ": "1819120002"}, "X 3K": {"FHL": "13914000003", "QQ":

"1819120003"}}

dicWX = {"/N§": "aaaa11","/ NI": "bbbb12"," KX E" "cccc13"," AX" "dddd14"}

dicTXL.update(dicOther)

for name in dicTXL:

if name in dicWX.keys():

dicTXL[name]["#{E5"] = dicWX[name]

else:

dicTXL[name]["#{E 5" = dicTXL[name]["F #1"]

(1)

dicTXL[" R E"|["F#1"] = "13914000004"

(2)

def search_contact(name):



if name in dicTXL:

return dicTXL[name]

else:

return & B ZEFHRKRRA A"

print(search_contact("/N#"))

print(search_contact("5K ="))

data = [

(gL
(g
(gL
(R
(g
(g
(g
(R
(g

{"EB" "

oW B X " w o o®w w X X

", B
I
I
I
I
I
I
i
", B

"’ “:F;Z'K"

10, "X &": 30, "BR*A": 300, "ER": 150, "HAM@": 600},

: 200, "X E

: 200, "
100, "
: 200, "
: 300, "
100, "

: 200, "

\

: 200, "X &" 10, "AR4A": 300, "E&" 300, "HAmM": 100},

": 100, "BR4M": 1000, "ER": 100, "HAmMm": 200},
: 50, "3 A" 20, "BRHA™ 300, "SR" 100, "HAm" 200},

: 50, "BR4f": 400, "S&" 100, "HAm" 200},
8" 10, "BRH": 500, "ER" 150, "HAM" 800},

" 100, "AR A" 500, "ER": 300, "H A m" 200},
8" 50, "Bk 0, "FR": 10, "BHAM" 50},

" 10, "BR#": 500, "ER": 40, "H A m": 500},

" 500, "BR 4" 200, "ER" 100, "H A m": 100}



(1)

sum1=0

sum2=0

sum3=0

sum4=0

sum5=0

for iin range(10):
sum1+=datali][" '
sum2+= dataf]["3 &'
sum3+= datafil[" B ']
sum4+= datali]["F ']
sum5+= data[i]["H A &"

print("H 2% : ",sum1,"X 8" sum2,"fR 1", sum3,"FR" ,sum4," B f m@",sum5)

(2)

a1=0
a2=0
av1=0
av2=0
boy=0
girl=0

for i in range(10):



if datali][" ¥ 51"]=="5"
boy+=1
al+=datali][" 3 &"]+datali]["$ 2" +data[i][" BR "]+ data[i][ "B &"]+data[i][" B
A"
if datafi][" ¥ B1"=="%&":
girl+=1
a2+= datal[i]["X £"] + data[][" B 4" + data[]["FR4H"] + data[i["BR"] +
datali][" B A &"]
av1=a1/10
av2=a2/10

print(av1,av2)

DDCACABAABAABCCDDCBACCBDCADDCBEB

import math
def area(r):

s=math.pi*(r**2)



return s
print("¥ &7 3.5 WEMEIRNA : "area(3.5))
print("¥ &7 2.9 WEEIRNA : "area(2.9))

print("AE¥ENRN 6.2, AEN 3.3 WEHER A : "area(6.2)-area(3.3))

def showMsg(n, name):

for _in range(n):

print(f"Happy Birthday {name}")

showMsg(3, "/JNEA")

def avg(a,b,c):
return int((a+b+c)/3)
s={/NZ": [77, 54, 57],/]N3K": [89, 66, 78], /MER": [90, 93, 80],/)MF'" [69, 58, 93]}
s1={}
for k,v in s.items():
s1[k]=avg(v[0],v[1],v[2])

print(s1)



def avg(Ist):

return int(sum(lst) / len(Ist))

s = { "IN [77, 54], /K" [89, 66, 78, 99],/INEK": [90],“)MA'": [69, 58, 93]}

result = {}

for name, scores in s.items():

resultfname] = avg(scores)

print(result)

dict_score = {'01": [67, 88, 45],'02": [97, 68, 85],'03": [97, 98, 95],'04": [67, 48, 45],'05"
[82, 58, 75],'06" [96, 49, 65]}
for k, v in dict_score.items():
if v[0]>=85:
if v[1]>=85:
if v[2]>=85:

print(k)



def get_sequence(n):

ifn==1orn==2o0rn==3;

return 1

return get_sequence(n-1) + get_sequence(n-2) + get_sequence(n-3)

sequence = [get_sequence(i) for i in range(1, 21)]

print(sequence)

1-14 AABDDDCCABCBCD

import csv

dicTXL = {"/N§™ {"F#H1": "13915000001", "QQ": "18191220001"}," /I 52" {"FH":
"13915000002", "QQ": "19181220002"},"/MNI": {"FH": "13915000003", "QQ":
"18191220003"}}

dicOther = { "AX|": {"F#1" "13914000001", "QQ": "1819120001"}, "AKE": {"FHl":
"13914000002", "QQ"™ "1819120002"}, "K3K": {"F#H1": "13914000003", "QQ":

"1819120003"}}



dicWX = {"/N#": "aaaa11","/M¥I": "bbbb12"," X E": "cccc13"," A X" "dddd14"}
dicTXL.update(dicOther)
for name in dicTXL:
if name in dicWX.keys():
dicTXL[name]["##{E"] = dicWX[name]
else:
dicTXL[name]["#{E"] = dicTXL[name]["FH"]
dicTXL[" K E"|["F4L"] = "13914000004"

with open("&1ifl3%.csv", "W", newline="", encoding="utf-8") as csvfile:
fieldnames = ["#£&", "FH", "QQ", "#HIE"]
writer = csv.DictWriter(csvfile, fieldnames=fieldnames)
writer.writeheader()
for name, info in dicTXL.items():
row = {"#&": name, "FH": info["FH1"], "QQ" info["QQ"], "#{E": info["{E
"1}
writer.writerow(row)
with open("&ifl3.csv", "r", encoding="utf-8") as csvfile:
reader = csv.DictReader(csvfile)
found = False
for row in reader:
if row["#E&"] =="KE":

print(" KEMFHS : {row[ FH")



: {row['QQ1T}")

print"XEH QQ =

)

=]

- {row['?}1

=]
=)

=]

print(f" X E B 1

= True

found

break

if not found:

print("RHZB X EMEBKRRAR")
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# o FrrERN

= result.split(",")

comment_list

counts =]

for c in comments:

counts.append(comment_list.count(c))



max_count = max(counts)
max_comment = comments[counts.index(max_count)]
for i in range(len(comments)):
print(f"{comments]i]}: {counts[i]};X")
print(f"H BB & 2 B 1FE £ {max_comment} , I T {max_count} X"
f=open("C:/Users/65791/PycharmProjects/PythonProject2/.venv/xzh/result.txt","w",en
coding="utf-8")
f.write(result)
f=open("C:/Users/65791/PycharmProjects/PythonProject2/.venv/xzh/result.txt","r",enc
oding="utf-8")
m=0
bm=0
yb=0
hm=0
foriin f.readlines():
for h in i.split(","):
print(h)
if h=="7&"
m+=1
if h=="FHE"
bm+=1

if h=="—fg":



yb+=1
if h=="1R% ="
hm+=1

print(f"—f% : {yb},BE : (m},FTHE : {bm}, BHEE : {hm}")

Lbub;

import turtle as t
t.pensize(4)
t.color("black”, "#8F653B")
t.begin_fill()
d=0
foriin range(4):
t.forward(100)
d+=90
t.seth(d)

t.end_fill()



turtle.exitonclick()

EibvE;

import turtle as t

t.penup()

t.goto(0, -100)

t.pensize(5)

t.color("black","red")

t.pendown()

t.begin_fill()

t.right(36)

t.forward(100)

foriin range(4):

t.right(72)

t.forward(100)

t.end_fill()

t.exitonclick()

NiLF

import turtle as t

t.penup()

t.goto(0, -100)



t.pensize(5)

t.color("black","red")

t.pendown()

t.begin_fill()

for i in range(6):
t.forward(100)
t.right(60)

t.end_fill()

t.exitonclick()

import turtle

t = turtle.Turtle()
t.penup()

t.goto(0, -100)
t.color("black","red")
t.pendown()
t.begin_fill()

for i in range(5):

t.forward(200)



t.right(144)
t.end_fill()

turtle.exitonclick()

Kil—

1253  BEEE  FH%, BARE  BHRE , FREFESEFZES

2HBET | LRIES  BRES

3.XERBTT , XHHETT

6.5 L—MUBHNXANET 5 BREE T EBERE , M 6 U2 LR 75 @i

FRHFTXEL ; KNE ; WX ; BX



2.KBEF

SMEEM ; WEEN

A FPARRE

5.8 ; e ; B

6.input ( )

7.print ()

8.BY ; ¥R ,; X

9.%;/; BBR ;R ; BEE ;abs( );round ( );max ( ); min( )

10.2 3 ; import math ; sum ( ); gcd ( ); math.trunc() ; ceil ( ); floor ( ); math.pi

: math.e

11.10;| am student;1 ; 1, 2.5, 6 ; int, float , float

7,7;3,3;10,10;25,25;2,2;1,1,;25,25; True, True ; False , False ;

2,2:5,5; False, False

score1=int(input())

score2=int(input())



score3=int(input())
sum=score1+score2+score3
avg=sum/3

print(sum,avg)

len1=23352
len2=23690
a1=24
len=len2-len1
s=al/len*100

print(s)

x=int(input("EA = : "))
a=x%10

b=(x-a)/10%10
c=(x-a-10*b)/100
m=a*100+b*10+c

print(m)



import math
a=int(input"FERMA=AFENE—FiBK . ")
b=int(input"ERMA=BENE=FiLK : ")
c=int(input"EMAZAFHNE=RLK . ")
I=(a+b+c)/2

s=math.sqrt(I*(I-a)*(I-b)*(I-c))

print(s)

import math
r=int(input("i& M A BKEY HE & : "))
s=4*math.pi*math.pow(r,2)
v=(3*math.pow(r,3)*math.pi)/4
print(s)

print(v)

h=1

for i in range(365):



h=h*(1+0.01)

print("B X&) , —FRNENE : "h)

m=1
for i in range(365):

m=m*(1-0.01)

print("BXEMFEIy , —FEHERIDE "

ts=int(input("BkLE B 5t : "))
run=int(input("BF R4k : ")
ty=int(input("BKIE R Sk : "))

print("&E.2 : ",0.5*run+0.3*ts+0.2*ty)

1,855 , X5|5 , =5l

2.\, 0, B8 | 1, BRE

3.

485  BE  B®

,m)



5.len() , ord()

6.lower(),split()

TERRKER , EFER/XRE , AFEERT]

3.1416

BHENEYN , BARRKE , RAFHSH

9.ab,cdef,gh

ab,cdef,gh,ab,cdef,gh

ab,cd

AB,CD

True

ab,cdef,gh,ab,cdef,gh FHHIMF& a HLE O

ab,cdef,gh,ab,cdef,gh F HHIF & a B{LE O

-1

['ab', 'cdef', 'ghab’, 'cdef’, 'gh']

—_

1.3 E 3 python

E54
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PN



PythonPythonPython

True

B
i

o
Tint
¥

ho

yhn

True

str="www.moe.gov.cn"
print("58 —NFRFR : ",str{0])
print("BI =N FAF R 1 ", str[:3])

print("f g =N FHF : "str{-4:-1])



print("FAFEKE R 1 " len(str))
print("FHF o FTENZE R : " str.index('0")
print("o HILAVREL : ",str.count('0"))
print("&#/5 : "str.replace('.,-"))
print("# A XKEF & : "str.upper())

print("#F 2 A AN FRF " str.split(."))

a=input("E—NERNEF 1 ")
b=input("SE=NERHWNEF : ")
c=input("E=NERNEF 1 ")
d=input("EENERNEF ")

print("\B & A F=& : "a[-1]+b[-1]+c[-1]+d[-1])

months = "JanFebMarAprMayJunJulAugSepOctNovDec"
month_num = int(input("iEM AKF A G 1-12: "))

start = (month_num -1) * 3

month_abbr = months[start:start + 3]

print(f"{month_num} A X MK XFEE R : {month_abbr}")



m=float(input("E M AL : "))
dm=m*0.1456

print("RAETTE : ","%.2f"%dm)

m=float(input("E M A : "))
dm=m*6.868

print("AARTE : ","%.2f"%dm)

o U

1,025, RIEREN  MAREH , ZREEN

2.if

3.if ; else

4.if ; elif ; else



5mE if

6.<,<=,>>= == |=True,False; tt%#;and,or,not

7.()A. B,D,A. C. D, B

(2) a= eval(input("i%?ﬁil a E’gﬁ : u))

b = eval(input("iEH A b K& : "))

if a>b:

print("{} LLEK".format(a))

else:

print("{} LB K".format(b))

(3)7%ES3

n=int(input())

if n//3==0 or n//7==0:
print("yes")

else:

print("no")



a = int(input("E A £ —NEHK"))

b = int(input("iE M A E = NEHK")

if a>b:

a,b=b,a # XMANTENE

print(a, b)

if 0<=ch<10:

elif ch.isalpha

elif 3 <km <= 10:

cost =10

cost=10+7*1.2+ (km-10)* 1.5

print("RFBE Z {11} Tt E B, " format(cost))

print(cost)



year=int(input("iBM AER : ")

if year%400==0 or year%4==0 and year% 100!=0:
print("% 5 B F")

else :

print("NO")

x = float(input("EHMABZEE x : ")

if x<0:

y=0

elif 0<x<5:

y=X

elif5<=x < 10

y=3*x-5

elif 10 <=x < 20:

y=05*x-2



print("EZEE y WEXR : {y}")

a = float(input("iFH AL — &KLk : ")

b = float(input("iEH AL —FKiLK . ")

c = float(input("EWMAE =KL K . ")

ifa+b>canda+c>bandb+c>a:

perimeter=a+b+c

s = perimeter/ 2

area=(s*(s-a)*(s-b)*(s-c)* 0.5

print" =B FH AR : {perimeter:.1f}")

print" =AM ERR : {area:. 1f}")

else:

print("=M B KERA , TEHEE=AE")



score = float(input("E A B 2 Hl 2 8: "))

if score >=90:

grade = "{£"

elif 80 <= score < 90:

grade ="R"

elif 70 <= score < 80:

grade = "f"

elif 60 <=score < 70:

grade = "R &"

else:

grade = "R & &"

print(f"iz 2 BN RAYZEH = {grade}")

1IRBREH ; fBIRGH ; for fBER

2.for in

, while /&



3.while

4 for BFEHMER |, while AT RAIER

50,1,2,3,,,n

0,1,2,3,,,99

1,12 ,13,14,15

11,13, 15

15,12,9,6

6.break , continue

74T, THA

8.FEHLEK , RIAFENIEK

1.-dcba

FATLA | IE @ gEHE

216,4X ,1,7

3.3L{&H , CTRL+c



sum=1
for iin range(1,11):
sum=sum®i

print(sum)

import random
T=int(random.randint(0,9))
m=False
N=0
while m!=True:
N+=1
t=int(input("IE A —NF "))
if t==T:
print("yes, @M T : ",N)
m=True
elif t<T:
print("fF/NT")
else:

print("fFRT")



import random
T=random.randint(0,100)
t=random.randint(0,100)
x=math.gcd(T,t)

y=T*t/x

pr|nt("HE§j((A\é’\J§& . "’X’"EEE/J\/A{F:Z?& : ",y)

import random
T=random.randint(100,1000)
a=0
b=0
foriin range(T):

x=random.randint(0,1)

if x==1:

a+=1
else:

b+=1

if a==b:

print(“JXEAB[E]")

else



print(“St A AE[E)")

print("3 0 BREK : ",a," 7 1 B9REK : "b)

x=1
foriin range(1,366):
if i%5<=4:
x=x*1.1
else:
x=x*0.1

print("%.2f"%Xx)

for i in range(1,100):
m=K*i
if M%2==1 and m%3==0 and m%4==1 and m%5==1 and m%6==3 and
m%8==1 and m%9==0:
print(m)

break



10.

count_upper += 1

count_lower += 1

count_digit += 1

11.

foriin range(1,100)

¥
®
S

’

1.HES 85, 2N, [

2BF  LB%S ,0,&EM, 3IRE [LERS]

.EmM3R5| , EERs| , E® , fa¥k, a [4] =5, a[-1]=5

4. 7ZH , JIRE [LE%S] ,append();insert();del;remove()

5.True;False;False; True

6.TEFE —XHBIERS , False ; 1

73,0



for i in range(n):

print(a[i])

foriin a:

print(i)

9.sont(); M NEIK ; IEF , BF ;

10.sorted ( ); Ak ;[4,2,1,3,5],11,2,3,4,5]

M.k ; 3IRE [BAEKS : K1EES : K]

12. [a’,)b’/c/a b /¢ a,b/cl;lab/c/d,el, FHZE ; extend ( ); mylist.extend

('de)

13.5%¥M ;[1,2,3];11,4,31,11,2,3],[7,5,6);[1,2, 3]

14 sum( ),max( ), min( ),15;5;1

5T

BS , FAIBRE | AT

1585 ,

>>>myList[3] : FIRZRSIM 0 FF#E , F3NEE (MNOE ) WNHTERS,

>>>myList[-3] : AKESINEERE , -3 TN TRERRT,



>>>myList[2:5] : Y1/ [2:5) /R T~MEKE| 2 FIFE 4 (FEE5) Wk, BI['S, '4,'5.

>>>myList[2:8:2] : Y1 [2:8: 21 R "MK E| 2 BI%E5| 7 . FKR 2 M9tE B[S, 5, 7.

>>>myList[1:] : NZE5| 1 BIREMNE , BI[2,'3, '4,'5','6', '7",'8", '9].

>>>myList[:3] : AFFXEIZEREI 2 ( FAE& 3) HIE |, B[, '2, '3,

>>>myList[1:-2] :MER5| 1 BIRIEE 3 MR F2EEHE 21 ) B[2,'3,'4','5','6),

'7I]O

>>>myList[-4] : MEEEIEEE 4 &k |, B1'6,

>>>myList[-4:2] : NEIBE 4 P URBIREI 1 (FEE2), RERE , ERA[.

>>>myList[3] &R N'4 >>>myList[1:-2] LERRA[2,'3,'4",'5, 6", '7] >>>myList[-4] ,

ZRR'6 ; >>>myList[-4:2] , £R A

>>>myList[1:-3:3] : NER5| 1 BIEHKE 4Nk, FKAIWRE, BI[2,'5,

>>>myList[-3:3] : MEIEEE 3P TEFIREI 2 (FEBE3), RERE, ERA.

>>>myList[0:-2] :ME5| 0 BIRIEE 3 MR T2 EHE 21 ) B[, 2,3, '4",'5,

|6|, |7|] °

>>>myList[1:-2] : R A[2, '3, '4",'5, 6", T,

>>>myList[:-1] : NFFKEIBEE 2 M & (FEERE—), B[, '2,'3,'4",'5','6',

'7','8']



(N&RBIR ‘R BEF: FEEME IR, BESEME,

AR SR #F  REUEEN SR | RE -0 FF5,

(2)mylist[::2]

(3)Mylist[-1::2]

(4)9

>>>myLiSt = [lal’ lbl, 'C', ldl’ lel]

>>>myList[0] = "hello" -~ myList Z&# [hello', 'b', 'c', 'd’, 'e']

>>>myList[-2] = False — myList 2} ['hello', 'b', 'c', False, 'e']

>>>mylist[2:4] =[1,2] - K528 3HTE , myList A [hello', 'b', 1, 2, e

>>>myList[1:] = "world" - fF%5] 1 RUEH TRBR N FRSE " world"WENFFF,

myList Z&7 ['hello', 'w', ‘o', 'r', 'I', 'd']

>>>myList[1:] = ['world"] - fFZ&K5| 1 RGN TEER N FIXK["world"] , myList &R

['hello’, 'world]



myList[1:] = "world" & , Z&FHE "world"@H B FD AENFZRHFHFIE (B
[w'.,'o,'r)1'd] ), K& E 1 RABH TEEFRAIXLEFR ; M myList[1:] = ["world"]

B ANRFIR["world"] HiEbZR 5| 1 RGN TREEER N ZIIRNEAN TR "world",

(2)

SfEE. ERFIRTARERN , AN SAARIMERANR (WFIR, FHEF), M2 2

BB FAER b BERN myList[2] = 32 18%/F myList BIER [1,2,32,4,5]

(3)

myList[1:2] = [6,7,8]

myList[0:3] = [6,7,8]

myList[0:3] = [{6,7,8}]

(1)[1,2,3,4,5], [2,3,45,6], — 1 REIKERS , — " REEERN , BHREST—H

(2)5, REFIRKE , B ,len ()

(3)3, HEXTHERLIARE , B , count ()



[ T ENLR AL, [1992,8,31]]

["IKE"," " " EF ", [1992,8,31], 90, 86, 92]

["1001" "8k 5" "&" "It Bl %", [1992,8,31], 90, 86, 92]

["1001","3K 3", """ IT EHF k", [1992,8,31], 90, 86, 92, 95, 88]

append() FEMNNR( WHIEK, TE )RNBFIRKRE ,HlE0 append([1,2]) £IE[1,2]

R =N TR,

extend() : HANEAX R ( WMHIK, Th ) WENTRFZBRMIIFIRAKE |, Hla

extend([1,2]) &1 F 2 BN TE,

insert() : EEERSUERALNNR , IBEN insert(R5], XHR).

EEA +: PHERANSIR  BEFIIER , TMERRTIE ; Ma=ERERBRRIIR,

5.myStr.sort()

Bl — N RARYE ASCLL B RATHF , E— M REEEF

B e [ EE e [ R



B E ] [ e [ R

B EE [ EE e [ R

(BN L8 8 La [ FE, ke ;

CEREEEE e [ R

B ] [ e [ R ]

R e [ S

CEREE BRI [ e ;

B R e [ R

(1) newList = myList : newList & myList B5|f , {2 myList BWIZETE& (W0
myList[0] )RR L EM newList ;{BISHHREFIRIINZTHE( 0 myList[2][1] )&,
newlist tt&Z &M ( K5 AN EE—H#&ESIX ) copyList = myList.copy() :
copyList & myList #R#EN , REFTVRIIR , REFIKRDHEIH. FHkigk
myList FTE TERENM copylList , BEIERREFIRMN AT TELEM copylist,
sliceList = myList[:] : sliceList RBEI I FEZIMAZEN , 5 copy() MER—3 , X
EHTEIIR , REHIRAEIA.

Q) ['BE" E#e" S8 U EE" e RR  myList FHTERTA (T
TRA ), BEEPRFRNATIRRE (WZHH myList EX ), BATIRBRE

W myList[2][1] REREFIRNTE , BREME5IHZBREIIRNEE ( newlist,

5t

copylist, sliceList ) &2 &0



import random

Ist_who = ["/NG", "NFE", "SR]

Ist_where = ["Eith £", "BBEPBR", "KE"]

Ist_what = ["BEBF", "THE", "ZEIR"]

index_who = random.randint(0, 2)

index_where = random.randint(0, 2)

index_what = random.randint(0, 2)

sentence = f"{Ist_who[index_who]}4E{Ist_where[index_where]}{Ist_what[index_what]}"

print(sentence)

month_days = [31,28,31,30,31,30,31,31,30,31,30,31]
while True:
month = int(input("EMA B (0 &R ): ")
if month == 0:
break
elif 1 <= month <= 12:

print(f"{month} A & {month_days[month-1]}X")



else:

print("M A B BBTR , FEFHAA")

fib = [1,1]

for iin range(2,30):

Ist_fib.append(fib[i-1] +fib[i-2])

print("ZE K BB F AT 30 I : ", fib)

10.

student = [["001","Z=#g",19],["002"," X #£",20],["003","5K & ", 18]]
student.append(["004","X)T",20])
student.append(["006","ii£",19])

print(student)

student.append(["005","#F",20])

student.sort(key=lambda x:x[1])

print(student)

print(student[2])

for i in range(5):

print(student[i][1])



age=0
for i in range(5):
age+=student[i][2]

print("FEEL ;- ",age/5)

11.

ist = ["E", "Z", "", " T"]

for x in list:

count= (x I="B@") + (x =="R") + (x !="T")

if count == 3:

print(f"#F EH AR © {X}")

break

12.

import random

IS = [IIA"’ "B", "Cll’ IID"’ IIE"]

found = False



while not found:

random.shuffle(ls) # BEHLITELYIE

cond1 = (Is[1] =="D") + (Is[2] == "B") ==

cond2 = (Is[1] == "C") + (Is[3] == "E") == 1

cond3 = (Is[0] =="E") + (Is[4] == "A") ==

cond4 = (Is[2] =="C") + (Is[3] == "A") ==

cond5 = (Is[1] =="B") + (Is[4] == "D") ==

if cond1 and cond2 and cond3 and cond4 and cond5:

Print(ERER (L1 HE58): " Is)

found = True

13.

Ist = ["Z=E","B",25],["&E","B", 23], ["XIFF"," &" 21],["E A", "L, 24] [T, B, 28]
name=str(input("BEMABZF : ")
while name!="0"
for i in range(5):
if Ist[i][0]==name:
del Ist[i]

else:



print("F1ETE")

brak

14.

Ist_odd =[1,3,5,7,9]

Ist_even =[2,4,6,8,10]

new_|Ist = Ist_odd + Ist_even

new_lst.sort(reverse=True)

print("& FH EFHEFEAFIR : ", new_lIst)

15.

s = input("iEH AR FRFE  ").lower()

letters =]

forcharins:

if char.isalpha() and char not in letters:

letters.append(char)

letters.sort()

print("".join(letters))



16.

import random

myList = [random.randint(10,99) for _ in range(20)]

myList[0:10] = sorted(myList[0:10])

print("bEEBFHIFIZ : ", myList)

17.

s = input("EH A RILED ;")

words = s.split()

reversed_words = words[::-1]

print(" ".join(reversed_words))

18.

scores =[]

for i in range(20):

score = float(input(f"i& il A S8 {i+ 1M Z 4RI KSR -

scores.append(score)

")



max_score = max(scores)

min_score = min(scores)

avg_score = sum(scores) / len(scores)

=R — VAN

print(f"& & %" : {max_score} , &1K% : {min_score} , ¥4 : {avg_score:.2f}")

1. RES ;25  BE B, &

N

S S 1 2

3. E— ; FAE ; AT

N

. A ; ATHL

($)]

-{} ; dict()

o

Tae ; MREEH G2

7. FHE[R]= E

(o]

. keys() ; values() ; items()

[(e]

.clear()JEEFHNAFBTE , del W HEMBRFHRES

10. &

11. J&F ; sorted()

12. K¥ES ; Tee ;, TF



>>>type(myDict) : #iH <class 'dict'>

>>>myDict["X§%"] : #id 10

>>>myDict ( EBUXEF ): Wi {IXE" 15.5, W& 10, 'EX" 6}

>>>myDict ( RINPBRE ): fid (XL 15.5, 3" 10, 'BXK" 6, 'PR" 12}

>>>"383R" in myDict : #iH False

>>>"Y83" in myDict : i True , AT : ¥R ISR REHEFHP |, ZAREFHFH

BEERE.

>>>myDict.pop("E%") : HiH 6

>>>myDict : #iH (X" 15.5, X" 10, 'PHR" 12}

>>>myDict.get("J$3&") : #H 10

>>>myDict.get("7§ 3" 1A, T LER") : #HH 10

>>>myDict.clear() f& >>>myDict : it {}

(1) &F4% KeyError iR, RR : FEMNRS|IAXNZEIRIGR , MIFEBKTH ,

0 TREZFHDIE  Rit2iRE.



(2)EH FHB[R) THN , ERTIEFEESME KeyError 1% ; M get() HEEN

B, BRAEE , TREMIAME ( EREEMIAENIEE None ), T,

( 3 ) del myDict["& "]

( 4 ) del myDict

(1)a b c;97 98 99; a:97 b:98 ¢:99

QETLERTZEIL,

>>>len(myDict) : it 3

>>>list(myDict.keys()) : #iHi ['color, 'shape', 'pattern’]

>>>myDict["shape"] : #iti ['circle', 'square’, 'triangle']

>>>myDict["pattern"][1] : #H "line"

>>>myDict["color"|[1:] : i H ['green’, 'blue]]

>>>myDict["pattern"] : %l {'dot':24, 'line":26}



>>>myDict["shape"]["square"] : fH 20

>>>colorDict=myDict["color"] J& >>>colorDict : #ith {'red12, 'green':23, 'blue':15}

>>>sorted(colorDict) : it ['blue', 'green’, 'red’]

- >>>sorted(colorDict.items()) : it [(‘'blue’, 15), (‘green’, 23), ('red’, 12)]

>>>|st=[(v, k) for k, v in colorDict.items()] f& >>>Ist it [(12, 'red"), (23, 'green’), (15,

blue’)]

>>>|st.sort() /& >>>Ist : #il [(12, 'red'), (15, 'blue'), (23, 'green’)]

>>>dict(Ist) : i {12: 'red’, 15: 'blue’, 23: 'green'}

(1) 8 ; 3%k ; &8,

(2)FfFE colorDict FHREN R

G)FEETAMNTIR Ist FEik) 7

myDict.items():

s =sum(v)

length = len(v)

print("{}:{:.1f}".format(k, s / length))



>>>get1 & set2 : i {2,3,5)

>>>set1 | set2 : it {1,2,3,4,5,6}

>>>gset1 A set? : #Hi {1,4,6}

>>>setl - set2 : i {1,4})

>>>set2 - set1 : #iH {6)

>>>set1 >=set3 : Bt True

>>>set? <set3 : i False

>>>set3.add((7,8)) /& >>>set3 : i {2,3,5,(7,8)}

>>>set3.remove(2) /& >>>set3 : Hil {3,5,(7,8)}

>>>get3.clear() f§ >>>set3 : #ilh set()

dic_student={}

for i in range(5):
name=input(f" B AL {+ 1} N FENEF : ")
dic_student[i]l=name
age=input(MEHM A B {i+ 1IN 2ENFR - ")

dic_student[name]=age



for k,v in dic_student.items():

print((k,v))

myDict={"F#&".9," 8 &"49,"E &£".39,"th F":29}
sum=0
max=0
for k,v in myDict.items():

print(f"{k}......{v}7t")

sum=sum-+v

print(sum)

if max<v:

max=v

print("SFEMIER : {sum/4), \EKER : {max}")

dic_student = {}

students = [ ("E&", [18, "172cm", "80kg"), ("I ", [19, "165cm", "55kg"]), ("HIXFE",

[18, "178cm", "82kg"),("XIXK", [17, "169cm", "75kg"]),("EF", [19, "170cm", "70kg"])]

for name, info in students:



dic_student[name] = info
for name, info in dic_student.items():
age, height, weight = info

print(f"{nameit{age}\t{height)\t{weight}")

10
dic_student = {}

students = [ ("E&", [18, "172cm", "80kg")), ('S =", [19, "165cm", "55kg"]), (" FXE",

[18, "178cm", "82kg"]),("XIXK", [17, "169cm", "75kg"]),("EF", [19, "170cm", "70kg"])]
for name, info in students:

dic_student[name] = info
for name, info in dic_student.items():

age, height, weight = info

print(f"{name}\t{age\t{height)\t{weight}")

11.



dic_country = {"China": "Beijing", "Amarica": “Huashengdun", "Norway": "Oslo",
“‘Japan”:"Tokyo, "Germany": “Berlin","Canada": “Ottawa", “France": “Paris",

"Thailand": “Bangkok", }

country = input("iER AERE : ")

if country in dic_country:

print(f"{country}#9 & &8 = {dic_country[country]}")

else:

print("f@# , RIKFZERNWEHEE")

12.

dict={"John":123,"Marry":111,"Tommy": 123456}
name=input"ERARAFHE : ")
mima = input("iF A B : ")
if name in dict.keys():
if dictfname]==mima:
print("E A h")
else:
print("Z BT IER")
else:

print("F F & &iR")



13.
Ist_staff = ["Z=4g", "5K&", "(SHF", "BE", "XI"]
dic_award = {"3K E": 10000, "#Xi&": 15000}
for staff in Ist_staff:
if staff in dic_award:
print(f'{staff} R&FLRKEH : {dic_award[staff]} TT")

else:

print(f'{staff} BRI &ZFLKESH : 5000 T")

14.

dic_score = {"#RkAR": {"iBX": 88, "EF": 90, "HiE" 98, "It EHL": 95},"KNM": {"{BEX": 85,
"B 02, "B 95, "ITE A" 98} , "X|T": {"EI": 89, "BE" 8 "FiE" 90, "it

EHL" 92}, "skfE": {"B3X": 82, "¥F": 86, "HiB": 89, "ITEH": 90}
for name, scores in dic_score.items():
total = sum(scores.values())

average = total / len(scores)



dic_score[name]["¥1545" = average

for name, info in dic_score.items():

print("#&& : {name}")

for subject, score in info.items():

print(f"{subject} : {score}")

print("-" * 20)

15.

s = input("EW AR FHFE ")

myDict = {}

for charin s:

if char.isalpha():

char_lower = char.lower()

myDict[char_lower] = myDict.get(char_lower, 0) + 1

for key, value in myDict.items():

print(f"= & {key} HIMT {value} X"

16.



s = "Artificial Intelligence: From Beginning to Date covers a wide range of topics in
artificial intelligence with three distinct features. Artificial Intelligence: From Beginning
to Date is expected to be welcomed by readers.It is a comprehensive manual and
practical guide for artificial intelligence research and development personnel to
conduct research on related artificial intelligence projects. It is also a valuable

reference for undergraduate and graduate students to learn artificial intelligence."

s = s.lower().replace(":", "").replace(".", "").replace(",", ")

words = s.split()

word_dict = {}

for word in words:

word_dict[word] = word_dict.get(word, 0) + 1

print("#EH HILR ST - ")

for word, count in word_dict.items():

print(f"{word}: {count}")

sorted_words = sorted(word_dict.items(), key=lambda x: x[1], reverse=True)

print("\n HIUXHBERI A BRI @ ")

for i in range(min(5, len(sorted_words))):

word, count = sorted_wordsi]

print(f"{word}: {count}")



17.

food_dict = {

R (ER R WE R TR BT R,

SRR P e B R R e R ")

R (BB ST B, T I, RS CE e, W R e

color_count = {}

for category, items in food_dict.items():

for food, color in items.items():

color_count[color] = color_count.get(color, 0) + 1

for color, count in color_count.items():

print(f" {color} FE¥HE {count} ")

18.

dic_house = {"Z=NI":93, "BrE:"78, "Ik £4E".88, "BX/F1L":91, "F=F&E".65, "ET".83}

sorted_students = sorted(dic_house.items(), key=lambda x: x[1], reverse=True)

for student, score in sorted_students:



print(student)

19.

dic_house = {"001": {"&E&": "3 £ 17", "HFR": 68.69, "H[@E": "FAL", "FEEHER" "Hi
" EERRMY 37124, "OE AR 35),"002": {"BHE": "2 £ 1 [T", "EHR" 87.16, "H@" "
A", RIEER" R, RN 37375, "RIEAR" 148},

"003" {"B&E" "3 E 1 /7", "EIR" 61.72, "§i@": "FEIL", "FEER" "BE", "HE
M 37266, "F3E AL 146},

"004" {"B&" "3 E 2 [T", "EiR" 68.18, "#A@": "FEIL", "EEHER" "EE", "HE
" 68496, "FIE AR 79},

"005" {"B&" "3 E 2 7", "EHR" 71.67, "Hi@" "EA", "EEHER" "HEK", "EE
M 33487, "F3EAEL 105},

"006" {"B&E" "3 E 1 /T", "HiR" 84.78, "Hi@": "EL", "wEIER" "HE", "HME
M 51782, "FKIEAEK": 34}
}
dic_house1=sorted(dic_house.items(), key=lambda x: x[1]["E ")
print("MEREN=FE : ")
for i in range(3):

print(dic_house1[i])

dic_house2=sorted(dic_house.items(), key=lambda x: x[1]["7<3F A ZK"])



print" ARERESN=EE : ")
for i in range(3):

print(dic_houseZ2][i])

20.

dic_repertory={"# #":50,"B&"60,"#:":100,"¥&":120," 38 £5":20,"Fk Ji1":60}
dic_repertory["¥&"]=80

dic_repertory["X& ¥5"]=50

dic_repertory["#kH"=60

dic_repertory=sorted(dic_repertory.items(), key=lambda x: x[1], reverse=False)
print("MERSHIZ : ", dic_repertory[0])

print("M & RAKHY =2 : ", dic_repertory[5])

21.

s = "Whether the weather be fine, or whether the weather be not. Whether the
weather be cold, or whether the weather be hot. We will weather the weather whether

we like it or not."

s = s.lower().replace(",", "").replace(".", ")



words = s.split()

unique_words = set(words)

count = len(unique_words)

print(f"F X2 K/NEHFEEWHE L FMNIR : {count}")

22.

set_highjump = {"ZA3", "EF", "sK8{", "X|#L", "B 18", "= 5"
set_longjump = {"EF", "B®", "X/#WL", "BE", "X/NE", "TR"}
all_students = set_highjump.union(set_longjump)

print("S LT/ AMEFEER S . ", al_students)

both = set_highjump.intersection(set_longjump)

print("FM LR E S Y FE R # : ", both)

only_highjump = set_highjump - set_longjump

print("{XZMBkS LLFRAEF B E : ", only_highjump)
only_longjump = set_longjump - set_highjump

print("{X S MNPz LLITAREZFEE ", only_longjump)

only_one = only_highjump.union(only_longjump)

print("{X S M—T LR FEEZE . " only_one)
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dJjo
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(5) AIEL

3. RBUEA

(1) EHEE(CERSHIIR)
(2) KRS8 (X5 ); IiFF
(3) TIERK

(4) B9

4. WBHNSH

W

(1) %

(2) EXBRBH (%Z)

(3) L& ; B ; BIAE



5. MINSTE

(1) FIA 5 FiA

(2) RE

6. IXHMESH

MNES (*); FH

7. ®REESRIE

fein

(1) BB

2) 2B

(3) Rk ; £/

8. lambda() B X

—1TA ; EREH

9. BIHEHK

(1) B2

(2) LSRN (LLLRMG); BAZH

10.

d1=3.6055

d2=4.4721

d3=5



1.

def copy(n):
foriin range(n):

print("l want nobody nobody but you")

copy(1)

print("How can | be with other")

print("l do not want any other")

copy(3)

def isOdd(n):
if type(n) == int:
ifn%2!=0:
return True
else:
return False

else:

print("BIEEEIR")



def calc_age(last_digit, birth_year):

result = (last_digit * 2 + 5) * 50 + 1766 - birth_year

return result % 100 # ENEEFIERN F#R

print(calc_age(3, 1990))

def isLeap(year):

# ¥R BN EF

return (year % 4 == 0 and year % 100 != 0) or (year % 400 == 0)

# ERFLIT 1990-2020 FHYEF

count=0

for year in range(1990, 2021):

if isLeap(year):

print(year, end="")

count +=1

if count % 5 == 0:



print() # |1THIE 5 NERIT

if count % 5 != 0:

print() # WREKE—1TH HERIT

def sum_digits(n):

s =str(n)

total=0

forcins:

total += int(c)

return total

num = int(input("iE A —MNEEE : ")

print(f"{num}i B EF 2 M H : {sum_digits(num)}")

def sum_digits(n):

s = str(n)



total=0

forcins:

total += int(c)

return total

for x in range(100, 1000):

sums =]

foriin range(3, 8):

product = x *i

sums.append(sum_digits(product))

if len(set(sums)) == 1:

print(f"x={x}: ", end="")

foriin range(3, 8):

print(fx*{i}={x*}", end=", " if i < 7 else "\n")

def is_perfect(n):

if n <=0:

return O



divisors =[]

foriin range(1, n):

if n % i==0:

divisors.append(i)

return 1 if sum(divisors) == n else 0

num = int(input("E A —NEE - ")

print(fZE 25T if is_perfect(num) else "ZH T2 TEH")

def sum_series(n, m):

total=0

foriin range(1, n+1):

total +=i ** m

return total

s = sum_series(100, 1) + sum_series(50, 2) + sum_series(10, -1)

print(f's {ERA : {s}")



def sum_aaa(a, n):

total=0

current =0

for _ in range(n):

current =current * 10 + a

total += current

return total

a = int(input("EMA a (1~9 2@ ): ")

n = int(input("iBMA n : ")

print(f"2 a={a}, n={n}&t , s BWER : {sum_aaa(a, n)}")

10.

10.

import random

def red_packet(total=100, num=15):

amounts =]

remaining = total * 100 # ¥R P HEITE

foriin range(num - 1):



max_amount = remaining - (num - i- 1)

amount = random.randint(1, max_amount)

amounts.append(amount / 100)

remaining -= amount

amounts.append(remaining / 100)

return amounts

print("ERIAEM IR ( SEE 100, HE15): ")

packets = red_packet()

print(packets)

print(f" &£ : {sum(packets):.2f}")

print("\n B EMEMN R ( 228 200, HE 10): ")

packets_custom = red_packet(200, 10)

print(packets_custom)

print(f"&. €& : {sum(packets_custom):.2f}")

print("\n (1) ENIBHRZEOEEEH ( MEEH 100 , HE 158, HZZEE

100-0.01*14=99.86 T ) ")

print(" (2 ) B2 : €FMEN , FEEL 0.01 tEEMNETEESH ; NF% : HEit LFE



Hl, BXREESEIRFAEFEER. ")

print(" ( 3 ) IEXMNJE , ENMIBBEAERBE™HE , SRS HEHS , WK AKALE

BEREEE. ")

print(" (4 ) ARIHETFESH ANEE , ELMEEDETHEINT , BHLTH,

")

11.

def isdif(n):

s =str(n)

forcins:

if s.count(c) > 1:

return O

return 1

num = int(input("iEAMA—MNEEE - ")

if isdif(num):

print(f"{num}iy R FEFMHEE")

else:

print{num}F BEEEHF")

12.



def sum_positive(Ist):
total = 0
for num in Ist:
if num > 0:
total += num
return total
test_Ist=[-1, 2, 3, -4, 5]
print(f"%] & {test_Ist}i¥ IEX 2 FH : {sum_positive(test_lIst)}")
13.
def has_duplicate(Ist):
for elem in Ist:
if Ist.count(elem) > 1:
return True
return False
def has_duplicate_set(Ist):
return len(set(Ist)) < len(Ist)
Ist1=1[1,2,1,3,4]

Ist2 = [1,2,3,4,5]



print(f'%]&{st1}2BBEEETHE : {has_duplicate(Ist1)}")

print(f'5I TR {st2} 2 BB EETH : {has_duplicate_set(Ist2)}")

14.

import random
def transfer(a,low,hight):
list=[]
min_value=min(a)
max_value=max(a)
foriin a:
print(i)
x=low+(i-min_value)*(hight-low)/(max_value-min_value)
x=round(x,4)
list.append(x)
return list
a=[]
for iin range(10):
x=random.randint(1, 100)
print(x)
a.append(x)
b=transfer(a,10,100)

print(b)



15.

def judge(password):

level =0

has_digit = any(ch.isdigit() for ch in password)

if has_digit:

level += 1

has_upper = any(ch.isupper() for ch in password)

if has_upper:

level += 1

has_lower = any(ch.islower() for ch in password)

if has_lower:

level += 1

if len(password) >= 8:

level += 1

return level

while True:

password = input("iFH AN X ;")



if not password:

break

level = judge(password)

print(f'{password} HZBEEN {level} 4")

KR

1.ASCLL , Unicode

r OBREMARE BRSOV X

w BEXHRAER flE x

a HREXHRBT (EM) GE x J

e REUHRE  BR VY

w+ BEXHRAER glE v Y

at REXHAR (EM) @E Vv

(1)read ( ); readline ( ); FfF& ; readlines ( ); &

(2) write ()

(3)%l%



(4)close ()

(5) writerow ( ); 3% ; writerows ( )

(1) 1tryooo except

(2)except ()

1. (1) BT I 324

(2) 2l

(3)ERNBITRa, b ELDE , R T FZRR , FEENKRRNEY

(4) <HAXH

(5) MBEXHAFEATUELEE

(6 ) SAITFF R R 4

(7) T8

( 1) ZeroDivisionError BE 8%

c_3=c/a ( HRAFHA a=0 it , ZIBAMITRE /0 , ALABRERE )



( 2) ValueError &%

Ri% a, c KK BIEAIEE KN ER , ATRE™~4 ValueError WigHA : & ( BB ERIR

BRI ERREY , M ValueError BHEERERRAMA AL , HATHEXED )

( 3)) IndexError E X

* IndexError &7~ FIRRSIBEHEERE (HZHBRIIKRFFAFENREIAAAR )

* F=4 IndexError B9 A : print(Is[3]) ( 515k Is=[a,b,c]RE 3Nt H& ,&KEIH 0, 1, 2,

V1] Is[3]H8 B E )

« P4 IndexError WRE 3k Is WEERN 3, BMEK5IZ 0, 1. 2, MiED print(Is[3])

HEERS 3, ZREITFET RS,

content =""RBF L , HFEFH LK,

with open("yzy.txt", "w", encoding="utf-8") as f:

f.write(content)

for i in f.readline:



print(i)

I=f.readlines()

total_ cost=0

with open("a.txt", "r") as f:

for line in f:

parts = line.strip().split()

price = float(parts[1])

quantity = int(parts[2])

total_cost += price * quantity

print(f" 528 A : {total_cost}")

import csv

program_design =[]

cell_bio =]

physiology =[]



with open("score.csv", "r", newline="") as f:

reader = csv.reader(f)

next(reader) # Bkid&Rk

for row in reader:

program_design.append(int(row[1]))

cell_bio.append(int(row[2]))

physiology.append(int(row[3]))

def calc_stats(Ist):

return {"S£335": sum(Ist)/len(Ist), "& @7 max(Ist), "&{K7": min(Ist)}

stats_pd = calc_stats(program_design)

stats_cb = calc_stats(cell_bio)

stats_phy = calc_stats(physiology)

print("BFIZITREL LT : ", stats_pd)

print("4HRBEYIIRES 1T : ", stats_cb)

print("EEFIRFELIT ", stats_phy)

line_count=0



word_count =0

with open("zen.txt", "r") as f:

for line in f:

line_count +=1

word_count += len(line.strip().split())

print(f*{T%X : {line_count} , #1F/NEK : {word_count}")

import random

nums = [random.randint(10, 99) for _ in range(100)]

with open("number.txt", "w") as f:

foriin range(0, 100, 10):

line =" ".join(map(str, nums[i:i+10])) + "\n"

f.write(line)

import random

nums = [random.randint(10, 99) for _ in range(100)]



with open("number.txt", "w") as f:

foriin range(0, 100, 10):

line =" ".join(map(str, numsl[i:i+10])) + "\n"

f.write(line)

10.

with open("data.txt", "r") as f:

nums = list(map(int, f.read().split(",")))

nums.sort()

with open("sorted_data.txt", "w") as f:

f.write(",".join(map(str, nums)))

11.

students =]

with open("score.txt", "r") as f:

next(f) # BkiIFRL

for line in f:

sid, 8}, HAR = line.strip().split()



¥t = int(FAET)

HAR = int(HAK)

BiF =round(FEaRt * 0.4 + HIZK * 0.6)

students.append((sid, &Y, HiR, Ei¥))

students.sort(key=lambda x: x[3], reverse=True)

with open("sorted_score.txt", "w") as f:

f.write("# 5, T oY RS, B AR A S, 5 PR ST\n")

for stu in students:

f.write(f"{stu[0]},{stu[1]},{stu[2]},{stu[3]}\n")



